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1. Define the folowing terms.

1.(5%)  Sonorant vs. obstruent

2.(5%) Tone language vs. intonational language.
3.(5%) Jargon aphasia

4(5%) Deixis (deictic expressions)

5.(5%}) Epenthesis

6.(5%) Creoles

1. Answer the following questions.

7(10%) A. Give one example to illustrate the phenomenon “slips of the tongue”
B. Explain how the phenomenon “slips of the tongue™ is related to the concepts
“linguistic competence” and “linguistic performance.”
8.(10%) Draw a tree structure that reflects the syntactic construction of the following
sentence: That Peter put off his wedding upset Mary.

9.(10%) Define the two terms “infix™ and “circumfix” with related examples from the three
languages, English, Chickaswa, and Bontoc.
English
non-renewable
nan-recoverable

non-refundable

Chickasaw

Chokma “he is good” tkchokmo “he isnt good”
Lakna “it is yellow” iklakno “it isn't yellow”
Palli “it is hot” ikpallo  “itismit hot”
Tiwwi “he opens (it)” iktiwwo “he doesn ¥ open (it)”
Bontoc

Jikas “strong” SJumikas  “to be strong”

kilad  "red” kumilad ~ “to be red”

Jusul  “enemy” SJumusul  “to be enemy”

pusi “poor” pumusi  “to be poor”
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10. (10%) One of the linguistic characteristics of the Mandarin spoken in Taiwan is speakers

11.(15%)

12.(15%)

tend not to distinguish retroflexed sounds from their non-retroflexed counterparts in
casual conversation. Explain the possible kinds of ambiguity involved in the
following dialogue uttered in Taiwan Mandarin.
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“Aspirated” is a term in phonetics that refers to voiceless consonants produced with
the vocal cords open for a brief period after the release of the constriction resulting in
a puff of air.

A. Give examples from English and Mandarin.

B. Argue whether [+-aspiration] is a distinctive feature in each language.

Languages in the world can be classified into two major groups, head-initial or

head-final.

A.  Describe two characteristics of each group.

B. Examine the following data from Hindi and French and decide whether each
language is a head-initial or head-final language with examples to support your
decision.
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Hindi
i. Ram-ne seh kaya
Ram apple ate

‘Ram ate an apple.’

ii, Ram  Angrezi bol sakta he
Ram  English speak able 15
‘Ram can speak English *
ii. larke-ne tari-se kutte-ko mara
boy stick-with dog hit
“The boy hit the dog with a stick,’
iv. Jis larke-ne kutte-ko mara Vo mera bhai he
which  boy dog hit he my brother s
“The boy whao hit the dog is my brother.’
|
| v. Ram-ki bahin
5 Ram's sister

‘Ram’s sister”

vi. safed pul
white  flower

French

i Jean a mangé une pomme.
E£1 a mike n pom
Jean has eaten  an apple
‘Jean ate an apple.’

ii. Jean peut parler anglais.
23 pd parle dggle
Jean ean speak  English
‘Jean can speak English.’

ij. Le gargon a frappé le chien avec un baton.
Ia garsd a frape Io Sy avek 3 bat
the boy has hit the dog with a stick

The boy hit the dog with a stick.”

iv. Le garcon qui a frappé le chien est ‘mon fréte.
la garsd ki a frape la 3yE e ma frer
the boy who  has hif the dog is my brother
‘The boy who hit the dog is my brother.”

v. la soeur de Jean
la sOR da 23
the sister  of Jean
‘Jean’s sister’

Vi, une fleur  blanche
dn Fdr blag
a flower  white
‘a white flower”






